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wksjd¾h m%Yak 4  
(uq¿ ,l=Kq 20) 
 

m<uqjk m%Yakh ioyd fhdacs; W;a;r :  

mßÉfþoh 07 - ldrl m%d.aOk l<ukdlrKh 

   fmr jev 2022 ud¾;= 31 oskg 

f;d. /|jqï ld,h   osk 73  

Kh tl;+ lsrSfï ld,h 1 osk 91  

    osk 164 

(-)Khysñhkag uqo,a f.ùfï ld,h 2 (osk 128 ) 

ldrl m%d.aOk pl%fha os.    osk 36  

fmrjev  
1 Kh tl;+ lsrSfï ld,h .Kkh 

Kh tl;+ lsrSfï ld,h = 
idudkH Kh .e;sfhda 

x osk 365  
Khg úl=Kqï 

  
 

 

 

 
= 

(4,525,000+2,850,000)/2 
x 

osk 365  

 

29,500,000 x 50% 

 

 
 

 

 

 

 
= 

3,687,500 
x 

osk 365  

 

14,750,000 

 

 
 

 

 

 

 

= osk 91  

      

2 Khysñhkag uqo,a f.ùfï ld,h .Kkh 

     Khysñhkag uqo,a f.ùfï 
ld,h 

= 
idudkH Khysñfhda 

x osk 365  
Khg .eKqï 

  
   

 
= (3,400,000+5,060,000)/2 

x 
osk 365  

  
12,100,000 (W3) 

      

A fldgi 
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3 f;d. /|jqï ld,h .Kkh lsrSu 
 

f;d. /|jqï ld,h = idudkH f;d.h X 365 

  úl=Kqï msßjeh          

73 = (2,175,000 + 2,525,000) /2 X 365 

  x   

73 x = 857,750,000   

73  73   

x = 11,750,000   

     
.eKqï = úl=Kqï msßjeh + wjidk f;d.h - wdrïNl f;d.h 

 = 11,750,000 + 2,525,000 - 2,175,000 

 = 12,100,000   

(,l=Kq 05) 

fojk m%Yakh ioyd fhdacs; W;a;r :  
 

mßÉfþoh 01 - l<ukdlrK .sKqïlrKh ye¢kaùu" ;SrK .ekSfï§ wod< msßjeh iy 
wúksYaÑ;;d iy wjodkï hgf;a ;SrK .ekSu 

 
 2022 cQ,s 31 osfkka  wjika udih ioyd wdodhï m%ldYkh 

  

 re. 

úl=Kqï 1,915 x re.1,400  2,681,000 

(-)úl=Kqï msßjeh   

 wdrïNl f;d.h 400 x re.825 330,000 

 ksIamdok fmdÿ ld¾h msrsjeh (W1) 1,870 x re.825 1,542,750 

 

 

 1,872,750 

 wjidk f;d.h 355 x re.825 (292,875) 

 úl=Kqï msßjeh 

 

 (1,579,875) 

odhlh 

 

 1,101,125 

ia:djr fmdÿ ld¾h msrsjeh 

 

 

 ksIamdok fmdÿ ld¾h msrsjeh 

 

265,000 

 ksIamdok fkdjk fmdÿ ld¾h msrsjeh 

 

468,000 (733,000) 

jif¾ ,dNh 

 

 368,125 

 
 

 

= 4,230,000 

x  

osk 365  

  

12,100,000 

      

 

= osk 128 
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fmr jev: 
úp,H ksIamdok msrsjeh 

 

 

re. 

Rcq øjH 550 

Rcq Y%u 200 

úp,H  fmdÿld¾h 75 

 

825 

  (,l=Kq 05) 
 
 

f;jk m%Yakh ioyd fhdacs; W;a;r :  

mßÉfþoh 03 - úúO j¾.fha whjeh iy ie,iqïlrKh iy md,kh flfrys whjehlrKh 

 

re.000 whjeh  kuH whjeh i;H úp,;dj 

mrsudj 5,500  3,500 3,500 - 

      

úl+Kqï 17,600 17,600/5,500 x 

3,500 

11,200 11,200 - 

úp,H msrsjeh      

Rcq øjH (6,152) 6,152/5,500 x 3,500 3,914.91 4,192 277.09 A 

Rcq Y%u (4,823) 4,823/5,500 x 3,500 3,069.18 3,223 153.82A 

úp,H ksIamdok 
fmdÿld¾h  

(1,120) 1,120/5,500 x 3,500 712.73 649 63.73 F 

uq¿ úp,H msrsjeh (12,095)  7,696.82 8,064 367.18A 

odhlh 5,505  3,503.18 3,136 367.18A 

ia:djr msrsjeh - 
ksIamdok 

(525)  525.00 448 77.00F 

ia:djr msrsjeh -
mrsmd,k 

(648)  648.00 648 - 

uq¿ ia:djr msrsjeh 1,173  1,173.00 1,096 77.00F 

,dNh 4,332  2,330.18 2,040 290.18A 

         (,l=Kq 05) 
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y;rjk m%Yakh ioyd fhdacs; W;a;r :  

mßÉfþoh 01 - l<ukdlrK .sKqïlrKh ye¢kaùu" ;SrK .ekSfï§ wod< msßjeh iy 
wúksYaÑ;;d iy wjodkï hgf;a ;SrK .ekSu 

                                                            ksIamdok whjeh 

.eKqï (6,600 × 1,350) 8,910 

msrsjeh b;=reï:  

Rcq øjH (650 × 6,600) (4,290) 

Rcq Y%uh (420 × 6,600) /50% (1,386) 

úp,H  fmdÿld¾h ksIamdok úhoï (245 × 6,600) (1,617) 

jkaos 2,500 

ia:djr msrsjeh (105 × 6,600) × 30% (207.9) 

hka;% bj;a lsrSu (2,300) 

w;sf¾l b;=reï 1,609.10 

     by; úYaf,aIKh wkqj X Wmdx.h ñ<oS .ekSu  wkqu; l< yel                                                                                   
 
 

 
(,l=Kq 05) 

 
 

 
  

A fldgfiys wjidkh 
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 wksjd¾h m%Yak 03   
  (,l=Kq 30) 
 

miajk m%Yakh ioyd fhdacs; W;a;r :  
 
mßÉfþoh 01 - l<ukdlrK .sKqïlrKh ye¢kaùu" ;SrK .ekSfï§ wod< msßjeh iy 
wúksYaÑ;;d iy wjodkï hgf;a ;SrK .ekSu 

(a)  
mqyqKq Y%uh 

ksIamdos;h 
b,a,qu/ 

whjeh.; 
úl=Kqï (tall) 

mqyqKq Y%u A 
wjYH;djh 

(meh) 

uq¿ wjYH;djh 

(meh) 

l=vd  500 0.8 400 

  

(160/200) 

 uOHu 300 1 300 

  

(200/200) 

 úYd, 160 1.2 192 

  

(240/200) 

 uq¿ wjYH;djh (meh) 

  

892 

,nd.; yels mqyqKq Y%uh (meh) 

  

860 

ys.h 

  

32 

 
kqmqyqKq Y%uh 

ksIamdos;h 
b,a,qu/ 

whjeh.; 
úl=Kqï (tall) 

kqmqyqKq Y%u A 
wjYH;djh 

(meh) 

uq¿ 
wjYH;djh 

(meh) 

l=vd  500 1 500 

  

(150/150) 

 uOHu 300 1.5 450 

  

(225/150) 

 úYd, 160 1.8 288 

  

(270/150) 

 uq¿ wjYH;djh (meh) 
  

1,238 

,nd.; yels kqmqyqKq Y%uh (meh) 
  

1,300 

w;srsla;h 
  

(62) 

 
mqyqKq Y%uh iSudldrS idOlh  fõ 

(,l=Kq 04) 
 

B fldgi 
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(b)  

 

l=vd uOHu úYd, 

úl=Kqï ñ, 800 1,100 1,500 

(-) úp,H msßjeh 

   Rcq øjH 300 450 650 

mqyqKq Y%uh 160 200 240 

kqmqyqKq Y%uh 150 225 270 

uq¿ úp,H msßjeh (610) (875) (1,160) 

odhlh 190 225 340 

tallhlg mqyqKq Y%uh 0.8 1 1.2 

mqyqKq Y%u mehlg odhlh 237.5 225 283.33 

 

   

fY%AKs.; lsrSu 2 3 1 

 
m%Yia; ksIamdok ñY%Kh 

ksIamdok 
ksIamdok ie,iqu mqyqKq Y%u wjYH;dj 

^meh& 
uq¿ wjYH;dj 

^meh& 

úYd, 160 1.2 192 

l=vd 500 0.8 400 

uOHu 268 1 268 

   

860 

 
(,l=Kq 06) 

(uq¿ ,l=Kq 10) 

yhjk m%Yakh ioyd fhdacs; W;a;r :  

mßÉfþoh 03 - úúO j¾.fha whjeh iy ie,iqïlrKh iy md,kh flfrys whjehlrKh 

                                            uqo,a whjeh                              (re.) 

 

Tla-22 fkdje-22 foie-22 

,eîï 

   w;amsg úl=Kqï  (W1) 1,093,500 1,215,000 1,518,750 

Kh.e;shkaf.ka tl;= lsrSï  

(W1) 2,551,500 2,551,500 2,735,775 

uq¿ ,eîï 3,645,000 3,766,500 4,254,525 

f.ùï : 

   wuq øjH A  ioyd f.ùu (W2) 1,440,000 1,440,000 1,440,000 

wuq øjH B ioyd f.ùu (W2) 240,000 240,000 276,000 

Y%u msrsjeh (W3) 450,000 450,000 517,500 

mrsmd,k úhoï   180,000 180,000 180,000 
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uq¿ f.ùï 2,310,000 2,310,000 2,413,500 

Y+oaO uqo,a m%jdyh 1,335,000 1,456,500 1,841,025 

b/f./fYa 140,000 1,475,000 2,931,500 

m/f./fYa 1,475,000 2,931,500 4,772,525 

W1 - ud¾..; úl=Kqï yd Kh.e;shkaf.ka tl;= lsrSï    

 

wf.da-22 iema-22 

 

Tla-22 fkdje-22 

 

foie-22 

úl=Kqï tall 2,700 2,700 2,700 3,000 3,750 

úl=Kqï @ tallhla re.1,350 

ne.ska 3,645,000 3,645,000 3,645,000 4,050,000 5,062,500 

ud¾..; úl=Kqï - @ 30% 1,093,500 1,093,500 1,093,500 1,215,000 1,518,750 

f;d. úl=Kqï @ 70% 2,551,500 2,551,500 2,551,500 2,835,000 3,543,750 

f;d. úl=Kqï tl;= lsrSï osk 

30 @ 65% 

 

1,658,475 1,658,475 1,658,475 1,842,750 

f;d. úl=Kqï tl;= lsrSï osk 

60 @ 35% 

  

893,025 893,025 893,025 

Kh .e;shkaf.ka tl;= lsrSï - 1,658,475 2,551,500 2,551,500 2,735,775 

      W2 - wuq øjH  ioyd f.ùu      

 

  Tla-22 fkdje-22 foie-22 

ksIamdok tall m%udKh   3,000 3,000 3,450 

wuq øjH A re.480   1,440,000 1,440,000 1,656,000 

wuq øjH A  ioyd f.ùu   1,440,000 1,440,000 1,440,000 

wuq øjH B ioyd f.ùu @ re.80   240,000 240,000 276,000 

      W3 - Y%uh      

 

  Oct-22 Nov-22 Dec-22 

Y%u msrsjeh tallhlg @ re.150    450,000 450,000 517,500 

 (,l=Kq 10) 

y;ajk m%Yakh ioyd fhdacs; W;a;r :  
mßÉfþoh 05 - m%d.aOk m%Njhka iy m%d.aOk msßjeh 

(a)  
1 msrsjeh  

2 ,dNdodhS;ajh ^fldgil bmhSug n,mdhs&  

3 uQ,H wjodku 

4 ysñldrs;ajh wvq ùu 

5 j;alï moku 

6 ld,h 
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7 f;da,k ^Kh wkqmd;hg n,mdhs& 

8 jHdmdrfha iajNdjh iy m%udKh ^jHdmdr wjodku& 

9 úl,am uQ,H uQ,dY% mej;Su 

10 kS;suh iSudjka 

(,l=Kq 02) 

(b)  
(i) Pkao ysñ idudkH fldgia msrsjeh 

Ke = D0  (1+g) + g 
x 100% 

 

  

P0 

 
   

 

 Ke = 6 (1+0.05) 
+ 0.05 x 100% 

  

36 

   

 

 Ke = 22.50%  

 (,l=Kq 02) 

(ii) ksoyia l< yels Khlr msrsjeh 

j¾Ih úia;rh uqo,a m%jdyh DF @ 5% PV DF @ 10% PV 

0 ksl=;=j 95 1 95 1 95 

1-5 fmd,sh (7.60) 4.329 (32.9) 3.791 (28.81) 

 

 (100*10%*76%) 

    5 ksoyia lsrSu (100) 0.784 (78.35) 0.621 (62.09) 

 

 

 

NPV 16.26 

 

(4.10) 

 

IRR = A + 
NPVa 

× 
(B-A) 

NPVa - NPVb 

    
 

 
   

 

= 5% + 16.26 

× 
(10% - 5%) 

 
   

16.26 + 4.10 

 
   

     

 

= 0.05 + 16.26 x 5% 

  

 
   

20.36 
  

           

 = 0.05 + 0.7986 x 0.05   

         

 

= 8.99% 
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Y=oaO j¾;udk w.h .Kkh lsrSfï oS fhdod .;a jÜgï wkqmd;h wkqj IRR w.h fjkia fõ   

 (,l=Kq 03) 

  
(iii) fjf<ofmd< w.h Ndú;fhka nr;enQ idudkH m%d.aOk msrsjeh 
 

uQ,dY%h 
fjf<ofmd< w.h  

re.’000 
nr;eîu COC % WACC 

idudkH fldgia 720,000 52% 22.5% 11.70 

Khlr 665,000 48% 8.99 % 4.32 

 

  

 

16.02 

 
(,l=Kq 03) 

(uq¿ ,l=Kq 10) 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
  

B fldgfiys wjidkh 
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wksjd¾h m%Yak 03   
(,l=Kq 50) 

 

  wgjk m%Yakh ioyd fhdacs; W;a;r :  
 
mßÉfþoh 04 - m%ñ; msßjehlrKh iy úp,;d úYaf,aIKh 

(a) 
 

(i) 
Rcq øjH ñ, 
úp,kh = (m%ñ; ñ, - i;H ñ,) × i;H m%udKh 

   T1 = (800 - 780) × 1,180 = 23,600 F  

         
 

T2 = (160 - 220) × 24,200 = 1,452,000 A 

        

1,428,400 A 

 (,l=Kq 02) 

(ii) 
Rcq øjH ñY%K 

úp,kh = 
Rcq øjH i;H ñ, × [(uq¿ i;H øjH Ndù;h × m%ñ; 

ñY%Kh) – (uq¿ i;H øjH Ndù;h × × i;H ñY%Kh)] 

  

øjH T1 800× [(25,380 × 0.25 /5)- (25,380 × 1,180/(25,380)]  

800×(1,269-1,180)  

71,200 jdis 

øjH T2 160× [(25,380 × 4.75/5)- (25,380 × 24,200/(25,380)]  

160×(24,111-24,200) 

14,240 wjdis 

tl;=j 71,200 F – 14,240A 56,960 jdis 

 
(,l=Kq 04) 

(iii) 
Rcq øjH M,od  

úp,kh = 
m%ñ; ñ, × [(uq¿ m%ñ; Ndù;h × m%ñ; ñY%Kh) – (uq¿ i;H 

Ndù;h × m%ñ; ñY%Kh)] 

  

øjH T1 800× [(21,100 × 0.25/5) - (25,380 × 0.25/5)]-  [800 × (1,055 

- 1,269)]  

171,200 wjdis 

øjH T2 160 × [(21,100 × 4.75/5) - (25,380 × 4.75/5)] 160×(20,045 - 

24,111) 

650,560 wjdis 

tl;=j 650,560 A – 171,200 A 821,760 wjdis 

(,l=Kq 04) 

 

 

 

C fldgi 
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(b)  

whjeh.; odhlh 4,500*1,140 

  

5,130,000 

úl=Kqï wdka;sl mrsud úp,kh 
   

(319,200) 

i;H ksIamdokh u; whjeh.; 
odhlh 4,220*1,140 

  

4,810,800 

     úp,khka .e,mSu 

 

 A   F  

 Rcq øjH ñ, úp,kh 

 

(1,428,400) 

  Rcq øjH ñY%K úp,kh 

  

56,960 

 Rcq øjH M,od  úp,kh 

 

(821,760) 

  Rcq Y%u wkqmd; úp,kh 

 

(61,800) 

  Rcq Y%u M,od  úp,kh 

  

30,000 

 úp,H  fmdÿld¾h úhoï úp,kh 

 

(92,700) 

  úp,H  fmdÿld¾h ld¾hlaIu;d 
úp,kh 

  

10,000 

 úl=Kqï odhl ñ, úp,kh 

  

316,500 

 

  

(2,404,660) 413,460 (1,991,200) 

i;H odhlh 
   

2,819,600 
 (,l=Kq 05) 

(uq¿ ,l=Kq 15) 

kjjk m%Yakh ioyd fhdacs; W;a;r :  

mßÉfþoh 06 - m%d.aOk wdfhdack we.hSu 

(a)                                                                                                  
(re'000) 

  Y0 Y1 Y2 Y3 Y4 Y5 

uQ,sl wdfhdackh (50,000.00)           

iA:dmk msrsjeh (2,000.00)           

wdodhu   30,000.00  40,000.00  45,000.00  46,000.00  37,000.00  

l=,S úhou   (2,400.00) (2,520.00) (2,646.00) (2,778.30) (2,917.21) 
mrsmd,k úhou   (4,000.00) (4,000.00) (4,000.00) (4,000.00) (4,000.00) 

fiajl msrsjeh   (3,600.00) (3,600.00) (3,600.00) (3,600.00) (3,600.00) 

kj WmlrK 
m%;sia:dmkh 

        
(60,000.00) 

      
25,000.00  

wdodhï nÿ (W1)   (2,400.00) (4,771.20) (8,340.96) (5,669.21) (835.86) 

PV (52,000.00) 17,600.00  25,108.80  (33,586.96) 29,952.49  50,646.93  

DCF @ 15% 1  0.869  0.756  0.658  0.572  0.497  

  (52,000.00) 15,294.40  18,982.25  (22,100.22) 17,132.82  25,171.52  

NPV = 2,480.78 
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fmr jev             

              

 W1 - wdodhï nÿ             

    Y1 Y2 Y3 Y4 Y5 

laIh we;=,;a lsrSug fmr  ,dNh    20,000.00  29,880.00  34,754.00  35,621.70     26,482.79  

m%d.aOk oSukdj 

1 – uQ,sl hka;%h  

(10,000.00) (10,000.00)       

 m%d.aOk oSukdj 

2 - m%;sia:dmkh lrk ,o hka;%h 

      (12,000.00)   

bj;a l< hka;%fha nÿ whl< yels 

,dNh (W2)  

        (23,000.00) 

nÿ whl< yels ,dNh    10,000.00  19,880.00  34,754.00  23,621.70  3,482.79  

wdodhï noao @ 24%  2,400.00  4,771.20  8,340.96  5,669.21  835.86  

 
W2 - bj;a l< hka;%fha nÿ whl< yels ,dNh$w,dNh 

OdrK w.h     

            msrsjeh 60,000.00      

           (-) m%d.aOk oSukd (12,000.00)     

 

  48,000.00    

iqkanqka w.h   (25,000.00)   

bj;a l< hka;%fha nÿ whl< yels ,dNh   23,000.00    

 (,l=Kq 13) 
 

(b)  
Y=oaO j¾;udk w.h OK w.hla .kakd neúka jHdmD;sh ms<s.; yelsh 

 (,l=Kq 02) 
(uq¿ ,l=Kq 15) 

oyjk m%Yakh ioyd fhdacs; W;a;r :  
 (A) 

mßÉfþoh 02 - ls%hdj,s msßjehlrKh iy äðg,a msßjehlrKh 
 

 

fmrieß .sKqu 

úia;rh tall jákdlu   úia;rh tall jákdlu   
wdrïNl 
fkdksñ f;d.h 500 199,730 ksñf;d.hg udre lsrSï 8,600 5,620,100 

Rcq øjH 10,000 3,600,000 idudkH wm;h 500 50,000 

Rcq Y%uh - 1,944,000 widudkH wm;h 300 196,050 

fmdÿld¾h 
msrsjeh - 648,000 fkdkñ m$f. 1,100 525,580 

 

     

  10,500 6,391,730   10,500 6,391,730 
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W1- iudkqmd;sl tall m%ldYkh 

 

uq¿ 
tall 

Kgs 

Rcq øjH Rcq Y%uh fmdÿld¾h 
iïmQ¾K 
lsrSfï 
uÜgu 

iudkqmd;sl 
tall 

iïmQ¾K 
lsrSfï 
uÜgu 

iudkqmd;sl 
tall 

iïmQ¾K 
lsrSfï 
uÜgu 

iudkqmd;sl 
tall 

wdrïNl f;d.h - 
ksujqu 500 100% 500 100% 500 100% 500 

ksujqu 8,100 100% 8,100 100% 8,100 100% 8,100 

idudkH wm;h 
fhojqfuka 5] 500 - - 

 

- 

  widudkH w,dNh 300 100% 300 100% 300 100% 300 

wjidk fkdksñ øjH 1,100 100% 1,100 40% 440 30% 330 

uq¿ fhojqï 10,500 

 

10,000 

 

9,340 

 

9,230 

 

W2- tallhl msrsjeh .Kkh lsrSu 

 
Rcq øjH Rcq Y%uh fmdÿld¾h uq¿ tl;=j 

wdrïNl msrsjeh 175,000 17,400 7,330 199,730 

fhojqï msrsjeh 3,600,000 1,944,000 648,000 6,192,000 

idudkH wm;h iqkanqka f,i 

úl=Kqï 100/- ne.ska (50,000) - - 
(50,000) 

Y=oaO fhojqï msrsjeh 3,725,000 1,961,400 655,330 6,341,730 

wfmalaIs; iudkqmd;sl tall 
.Kk 10,000 9,340 9,230 

 

ksIamdos; tallj, idudkH 
msrsjeh 372.50 210.00 71.00 

653.50 

 

W3 - we.hSfï m%ldYkh 

 

 Rcq øjH Rcq Y%uh fmdÿld¾h 

uq¿ 
tl;=j i

u
dk

qm
d;

sl
 

t
al

l
 

.
K

k
 

t
al

l
 

m
sr
sj
eh

 

t
l

;
=j

 

i
u
dk

qm
d;

sl
 

t
al

l
 

.
K

k
 

t
al

l
 

m
sr
sj
eh

 

t
l

;
=j

 

i
u
dk

qm
d;

sl
 

t
al

l
 

.
K

k
 

t
al

l
 

m
sr
sj
eh

 

t
l

;
=j

 

ksujqu 8,600 372.5 3,203,500 8,600 210 1,806,000 8,600 71 610,600 5,620,100 

widudkH 
,dNh 300 372.5 111,750 300 210 63,000 300 71 21,300 196,050 

wjidk 
fkdksñ 1,100 372.5 409,750 440 210 92,400 330 71 23,430 525,580 

 
 

(,l=Kq 14) 
 
 

 



 

                                                                      14        l<ukdlrK .sKqïlrKh  
                                                                                                        iy uQ,H 

 

302/MAF 
 

(B) 

mßÉfþoh 01 - l<ukdlrK .sKqïlrKh ye¢kaùu" ;SrKh .ekSfï§ wod, msßjeh iy 
wjodkï iy wúksYaÑ;;d u; ;SrK .ekSsu 

(a) 

  

PQ QR             tl;=j 

tall .Kk                   18,000                  36,000  

 
    úl=Kqï ñ,                    1,400                     600                     

wvq l<d: úp,H msrsjeh 

   Rcq øjH                    (530)                    (320)  

Rcq Y%uh                    (180)                    (85)  
úp,H ksIamdok fmdÿld¾h 
msrsjeh                    (120)                    25)  

tallhlg odhlh                       570                    170                      

    uq¿ odhlh 10,260,000 6,120,000 16,380,000 

 

(570 × 18,000) (170 × 36,000)  
uq¿ úl=Kqï 
 25,200,000 21,200,000 46,800,000 
 (1,400 × 18,000) (600 × 36,000)  

 

taldnoaO ,dN mrsud 
wkqmd;h 

= 
odhlh 

X  100 
úl=Kqï 

 
= 

16.380.00 
X  100 

 

46,800.00 

 

= 35% 

 
                                

(b) 

iuõfÊo úl=Kqï 
jákdlu 

= 
ia:djr msrsjeh 

 taldnoaO ,dN mrsud wkqmd;h 

    

 
= 

8,610,000 

 

 

35% 

 
    

 

=    re. 24,600,000 

  (,l=Kq 02) 
 

(uq¿ ,l=Kq 20) 
 
 

 
C fldgfiys wjidkh 

 



 

                                                                      15        l<ukdlrK .sKqïlrKh  
                                                                                                        iy uQ,H 

 

302/MAF 
 

Notice:  

These answers complied and issued by the Education and Training Division of AAT Sri Lanka constitute 
part and parcel of study material for AAT students.  
These should be understood as Suggested Answers to question set at AAT Examinations and should not 
be construed as the “Only” answers, or, for that matter even as “Model Answers”. The fundamental 
objective of this publication is to add completeness to its series of study texts, designed especially for 
the benefit of those students who are engaged in self-studies. These are intended to assist them with 
the exploration of the relevant subject matter and further enhance their understanding as well as stay 

relevant in the art of answering questions at examination level.  
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